1. Mail Merge feature is available in
A. Adobe Reader

B. Wordpad
C. Notepad
D. MS-Word 2010

2. Statement I: The primary function of network
router is to route data packets to other network.
Statement II: Web browser is an example of
Application Software.

Select the appropriate option from the following:

A. Statement I is CORRECT and Statement II is
INCORRECT.

B. Statement I is INCORRECT and Statement II is
CORRECT. :

C. Both Statement I and Statement
INCORRECT.

D. Both Statement
CORRECT.

3. Which of the processes is related to search engine?
A. Web Crawling, Indexing and Searching
B. Pivot table, Macro and Mail Merge
C. URL, IP Address and MAC Address

D. None of the above

II are

I and Statement II are

4. What is the shortcut key to redo the last activity in
MS-Word 2010?
A Cul+Z
B. Cul+B
C. Cul+Ww
D. Cul+Y

5. Which pane display contain associated with the
sender of a selected email message in MS Outlook
2010?

A. People
B. Folder
C. Navigation
D. Reading

1. A Al gl # gt B
A @9 fim
B. asds /)
e e |
D Taww-ag 2010
2. JFIY |: AcIH WX T IUHF F e e
F T AcaF W F F &
gFded |I: 39 3R URodRE divedsR &
3T ¢ el & swgEd Rwew oo
A. TFdT | FE § IR aFded |l ea ¥
A TFE | T ¢ AR w1l b
C. @&l a¥3e7 | 3R a&dey |l 7oa & |
D. @&t aFaez | #R awaeq Il wa ¥

3. WY 39 ¥ Fi7 & giFar geftg 22
A. 3 HiieT (Crawling), 3373 (Indexing) 31k
@l
B M@e &aa (Pivot table), ## (Macro) 3R ___
A 7oA X
C. Z¥Rud, 3msdt gar #R #+ (MAC) gar
D. IRFd & 5 off 78
4. THTHE-3S 2010 # 3yF AR @ &g (redo)

e & v aleae el 7 &2

A Cul +Z

B. Cirl + B e

C. Crl + W

D. Ctrl +Y
5. TATH ¥Ecad 2010 & e 9w & wafad
SH HA F Pl T Foldh YERIT FaT &2

A. 99e (People)

B. HIesT (Folder)

C. aAfdem (Navigation)@

p. a7 (Reading)
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6. Why two wires are twisted together in twisted pair
wire cable?

A

B.
C.

D.

To reduce crosstalk and electromagnetic
induction.

To remove virus.

To increase network bandwidth.

To transmit the light.

7. Select the most appropriate option from the

following:

A

D.

Process management routines, memory
management routines and I/O control routines
are the examples of Application Software.
Secondary Memory, Main Memory and IO
Devices are the examples of System Software.
Android, Linux and MS-DOS are the example
of Hardware devices.

None of the above statements are correct.

8. What is the address of top left most cell in MS-
Excel 2010?

A.
B.
C.
D.

Al
A0
1A
0A

9. If you want to save the document in different
formats such as Word 97-2003, Word Template.
PDF and many other format, then you can use:

A. Open

B.
-

D.

Info
Save As

Mail Merge

10. Which of the following is harmful to your computer

6. Cla¥es W3R aR Fad # & aR & TH WY FAT
HIST ST 87
A. wiaeci (crosstalk) 3R fegd g o
(electromagnetic induction) F HHA FA &
o
B. a”H # ge & faw) Q)
~C. Acas dsfazy sgm & fow
- D. ya FEid e & o
7. PERR@T & gad 3ugFd Rded 1 989 F
A. 9T YEUA T, AAN gEUA & 3R
/3 AT T HTNT FFCAR &
3ETE0T &
/B/mﬁa?ﬂmﬁgwﬁmﬂaﬂraﬁlaﬂ@
fSarsw BweH AFeaat F 38T §1
C. Gﬁgﬁmmm%ﬁumm
& JETEOT gl
D. 3 # ¥ FIS M FUT T el 21

A Al
B. A0
9. TR 3T gFAdS F a5 97-2003, T5 UL,
e 3R F 3w gwdt S cEaRwr @
A.. 3H9eT (Open) :
Bt W (Info) @
a9 U (Save As)

8. TATH-UFdW 2010 # MY & HfOwiwr A #
C. 1A
e ded &, ar 3T e 3w & oEEd
D. A & (Mail Merge)

D. OA
3
10, Fefaf@a & & Sl @1 U FYR FEed &

system? d T affeRs &2
A. Antivirus A GeETERE
B. Virus B @
C. Windows Defender Cc. @3 st
D. Firewall D. WRRAl
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11.

12.

13.

14.

15.

16.

17.

Which of the following is output device?
Headphone

Trackball

Keyboard

Webcam

TNw>

is a reference to web resources that
specifies its location on a computer network and
mechanism for retrieving it.
A. Hypertext Transfer Protocol
B. Uniform Resource Locator
C. Modulator-Demodulator
D. Digital Subscriber Line

While online shopping, which would make your
transaction safe or secure?

A. OTP (One Time Password)

B. PDF

C. G2G

D. None of the above

Which one is not a type of SmartArt in MS-
PowerPoint 20107

A. List

B. Cycle

C. Matrix

DR

Suppose we want to keep rows and columns visible
while the rest of the worksheet scrolls based on
current selection then we can choose

in MS Excel 2010.

A. Page layout

B. Save As

C. Merge Cells

D. Freeze Panes

is the area in Windows 10 that contains
a background picture (wallpaper), icons and the
taskbar.
A. Computer Boot
B. System Tray
C. Desktop
D. Icons
Which tool is used to graphically represent the data
in MS Excel 20107
A. Pivot table
B. Cell address
C. Charts
D. Algorithm

11, FEfefRd & ¥ FiF @ aEeye fEasd 87
A gsWie (Headphone)
B. dhara (Trackball)

C. f=1% @
D. J&$H
12. ___ UF a9 §EEA FT HeH & S FY Acad

W oA ' RfEse war @ aw 56 g 9o
F & AT 7 3TeY T ¢l
V.3 FEUREE TERT WTHIe
B. gfawe REE dihed
D. ffoee FemFEa aBd
13, soaed ST S TAE, S A oeeA B
e & 22
A D (37 THF TEEE)
B. d@ItH @
C. s
D. IWeEd & 2 | 78
14, TAUEGIERGRE 2010 #F FaE & FHEHTE
(SmartArt) FET &7
A. foree (List)
B. @msf&e (Cycle)
c. AfRRFw (Matrix)

b 1§ (Pie)
15. A Ao 5 g AleEr 99 & YR W AV

Tl ST a<Q GAg dead AR wE @

Iq T ¢

X = @3m3e (Page layout)

B. ¥a ¥ (Save As) C\/

D. st 9 (Freeze Panes)
16. ____ﬁg‘lsrma:rm%ﬁmﬁ?@

mgﬁm,mmmaﬁa I

B. f&w#H ¢ (Tray)

C. 3&we™

_D7 3 (Icons)

3er

yRfafe #= & U S a1 g s
ST FHhaT 27 '
B. a« T3H
C. W

Rger T'd & @ 1 weE wEad 2010 A
C. #a ¥ (Merge Cells)
A. e §¢ (Boot)

17. TATE THRAE 2010 # F dfved ¥ &
D: TeaREA(Algorithm)
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18.

19.

20.

21.

22,

23.

is an input device used to input
audio data into computer.
A. Barcode Reader

B. Optical Character Reader
C. Optical Mark Reader
D. Microphone

bar contains several options such
as Page Number, Word Count, Proof Check etc. in
MS-Word 2010.
A. Title

B. Status

C. Scroll

D. Task

The printer output quality is measured in terms of:

A. Electromagnetic Index (EMI)
B. Dots per Inches (DPI)

C. Megahertz (MHz)
D.

Clock per second

is an application program that is used to
view/read PDF files.
A. Adobe Reader
B. VLC Player
C. Compiler
D. Calculator
After selecting a cell, we write =12+26*3 and press
enter key then what is the value inside that
particular cell?
A. 38
B. 55

C. 90
D. Result in error

Network congestion occurs :

A. in case of traffic overloading.
B. when a system terminates

18, _ UH FA9c famw § S g A
3ifEar a1 sAqe A & fov suIer fRar S
&l : I '

C. Jiftewar ArF fsT
D. HATSHITIT
19, _ ' @R ¥ uAwEas 2010 # ¥
nfaer gl
A. zsed (Title)
B. ¥cH (Status) :@
C. @hia (Scroll) .
P T+ (Task)
20, T & 3BT IvIEcar F FrEd wed A Ar
ST 87
A. gERARS g3 (EMI) :
B ufa 37 (Srfamg)
C. Amgést (MHz)
D. Fdi® i JHs
21, uftodes 9w g e 3 v
FISal & 38w / Yo & fav fRar S gl
IV
g T @ @,
C. FUBH
D. FeFecy
22, 99 T & G, g 12 + 26 + 3 fama § IR
WX Foit gard € aF 3§ RO ¥ & ey 75
F41 |
A. 38 - {/
B. 55 @ :Q,Z
C, 90
D(qﬁumﬁgﬁ:o
23, @ca® v (congestion) Fa AT &7
A. & (traffic) R i 3ufeafy #)
B. Si& YUTell WATCT &1 el ol

C. When connection between two nodes
terminates C. 9« & AZH & &1 FoFua FATT BT gl
D. None of the above.
P 3T & F§ o 7|
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24.  Which of the following MS-Excel 2010 tools works 54 fifaf@d & ¥ #i9 ar wATg-vads 2010 T
backward from an objective to compute an Y 37T AieT & AT IR F T QA ﬁim'r
unknown value? HTH FLT &2
A. Goal Seek A. it @& (Goal Seek)

B. Custom filter function B. F&ecH Theel HhaaeT .
C. Pivot table }/ fOaie &aer (Pivot table) @
D. Boolean operator D. aﬁm;r (Boolean) 3fa¥ex

25. Which memory is used to store most frequently 25, H ¥ HOFR I9qT & T FTEERr #; @R
accessed information from the RAM? e & v Pla @ AT 7 39D B Fmar
A. Cache Memory £?

B. Main Memory A. & (Cache) A

C. Register B. #Tg AAm ~
C. WX e

i D AH(ROM) el

26. Motherboard is an example of: 26, AewEs & 3ETET ¢ -
A. Input device A. &9e BarsE
B. Output device B/aqu' ECIES:)

C. Processing device C. EERUT Rasg @
D. Storage device D. #sRur Rarzw

27. are animation like effects that occur 9. AR S 99 & § 59 39 FsE
when you move from one slide to another during QTT * ar:n;r TF TEs o q3q'l' ToEs A Eﬂ?—]’ gl
slideshow. A FTSs dFAMIE (backgrounds
A. slide backgrounds B. ¥@ss Yoo (patterns) @

B. slide patterns C. ToTEs gishem (transitions)
C. slide transitions D. Togs 8% (breaks)
D. slide breaks >

28. Select the correct statement from the following: 28, AR ¥ ¥ Fa #1 9T St

A. You cannot broadcast the slideshow to remove A AT FA138 AT H A9 FIEFOR W GAIRA G
viewer who can watch in web browser. T §hd 8 A IR T @ §|

B. You can hide the selected or current slide from HT mﬁ O 9afag a1 THT TF
presentation. / TaHd g-|

C. You cannot start the slideshow from first slide C. 3T weqfay & ugeh F-HES a .w,, TE
of the presentation. BTy e gl

D. You cannot start the slideshow from the active D. 3T Wik FoTgs -\:} S A " T
slide. #H ¢

29. In MS-Excel 2010, what is the keyboard shortcut ;9 UHUE-TFdE 2010 #, =afaa Fat & 4 el
key for creating a chart from the selected cells? ¥ for fieig aicae Foft 1 &7
A. F3 A F3
B. F5
P B/ D -

D. Fll /e/ o
D. F11
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30.

What is Skype?

A. Cloud based file sharing system

B. Word processing system

C. Video calling and messaging system

30.

THIZY (Skype) 4T &7
A. FaT33 ITUTRA WIS FEE0T e

/B/a?mwﬁm (’\

et C. afzar sifer 3
D. Anti-virus system b. “atte TR

31. MS-Access automatically creates the first field for 3¢ THUH-UGHE F@AfAd & ¥ JAH 5 difea &
each new table called as ID, what is the Use of ID? foT g Hres WSS F AW F a N ¥, 39
A. To uniquely identify the record. HTSEN 1 U T &7
B. To enter only the currency values. é( Fats St fafe Eaﬁlgﬁalalai?:émg

sadl Hgl Hedl
C. To make presentation good C. m 31?01 S F Al
D. It is useless. D. SwH P 3T A B
32. What s the full form of VOIP? 32, ANIED (VOIP) FT G §T 4T §7?
A. Voice over Internet Protocol % Pmto!co') x SUTTNgLST Intemet
B. Vehicle over Internet Protocol B. ®$d MR IcTAC WIS (Vehicle over
ternet Protocol
C. Video over Internet Provider ;%m e ;'EF\E' YIS (Video overintemet
D. None of the above Provider) a8 o ol i | & j
D m ‘

33. Which user account have full access to every 33 &9 10 & W W YAF AfeT aF Tu‘[ qga
setting on the computer in Windows 10 ? T A 3"1“‘117137\-!? 3T T@AT %’) :
A. Standard A. TUs$ (Standard)

B.  Administrator B TRER (Administrator) o( '
C. End C. ©s (End)
D. General D. St (General)

34. Suppose you want to repeat a text like company 34 HE NPT F W9 GAF [ W FAl F AR
name and page number on each page then which IR O A AW I F SBUSAT UEd & O
feature is appropriate in MS Word 2010? TATH @5 2010 & & & gfatn I9gFA Y4
A. Bookmark A gam:[r#;

B. Hyperlink _B- ERMCED
C. Track changes C. ¥ dfaw
D. Header and Footer D. =t 3k PR

35. Which is often referred as a username of recipient 35 S rscit@vmou.ac.in H 3IFE UcdSAT @M
in rscit@vmou.ac.in 7~ SO AT FE ST 22
A. vmou ?/ -

B. ac B. .ac /@
C. rscit C. rscit
D. .in D. .in
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